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Under ideal conditions, which frequency band will have the farthest usable range?
Response:

A. 6 GHz
B. 900 MHz
C.2.4 GHz
D. 5 GHz
Answer: C
How should a Mist AP43 be mounted?
Response:
A. mounted vertically above ceilings
B. mounted horizontally on a ceiling
C. mounted vertically on a wall
D. mounted horizontally on a table
Answer: C

Referring to the exhibit, what percentage of connection attempts took longer than the 2 second goal?
Response:

A.24%
B.12%
C. 20%
D. 25%

Answer: B
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The Connectivity category in Marvis Actions displays connectivity failures for which devices?
Response:

A. WAN edge and wireless
B. wireless only

C. WAN edge and wired

D. wireless and wired

Answer: D

Given that there are 30 users on the network and Mist has tracked each of them for 30 minutes, what
would be the total number of user minutes?
Response:

A. 900
B. 90
C.60
D. 300

Answer: A

Referring to the exhibit, what is the main cause of the capacity issues?
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Capacity

Root Cause anaiysis Selecl a metric to analyze

Service Level Metrics Classifiers

Time to Connect Client Usage
Successful Connects WiFi Interference
Coverage Won WiFi Interference
Roaming Client Count

Throughput
Capacity am
AP Health

Statistics Timeline Distribution  Aifected ltems Location

Success Rate Distribution

92+

66% avg.

Response:

A. Throughput
B. WiFi interference
C. Distribution
D. Client usage

What are two components of Reinforcement Learning?
(Choose two.)
Response:

A. Autonomous Decisions

B. Action results (improvement or degradation)
C. Natural Language Processing

D. A Critic

A0 T2%
Goal Successiul

Answer: B
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Answer: A,B

Which two statements correctly describe what happens when a Mist subscription expires?
(Choose two.)
Response:

A. The Mist management GUI functionality related to the expired subscriptions remain visible
B. The devices remain operational

C. The devices are no longer operational

D. The Mist management GUI functionality related to the expired subscriptions are hidden

Answer: B,D

Which SLE would you use to determine Wi-Fi interference?
Response:

A. AP Uptime

B. Roaming

C. Successful Connects
D. Capacity

Answer: D

In the Marvis Actions dashboard, the "Bad Cable" action listed under "Layer 1" indicates a bad cable
connected to which type of device?
Response:

A. WAN edge
B. client
C.AP

D. switch

Answer: C
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